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It is mandatory to answer all the questions.
weaAl Y FoT TEAT 40 ¥ |

The total number of questions is 40.

9AF T & v 1 3+ uifRa &

Each question carries 1 mark.

TAF N & AT IR {wew R v &1 5o ¥ v @d Reew &1 99a AfFw |

Each question is provided with 4 options. Choose the correct option.

TAd IW F AT S 3T AT FIE AT |

There will be no negative marking for any wrong answer.

3THH 5,14,23,000000eeen &1 2791 UG B AT BN |
27" term of the sequence 5,14,23..... is
(a) 239 (b)100

(c)900 (d)101

AN 5,79........ 21 TaT BT <9 g BN |

The last term of the series 5,7,9........ to 21 term is:

(a)aa (b)45
(c)a3 (d) none
43 &R 77 & o GAMGR AT BN |

The arithmetic mean between 43 and 77 is

(a) 60 (b) 50

(c) 70 (d) none

AEY 1434547+ @ N Ul BT AT

Sum of n terms of the series 1+3+5+7+............. Is
(a) 16 (b)25

(c)5 (d) n®
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The sum of first n natural number is.......

(a) *22 (b)(n+1)(2n+1)
(c) n(nTH)Z (d) none
TR 21 1,3,5,7 e 99 # f&a ug BN |
How many terms are 1,3,5,7........... 99

(a) 50 (b)30

(c) 90 (d)as

f&<dt s/ g®H 10,5,0,-5,-10........%T 10ai UG BN |

The 10" term of sequence 10,5,0,-5,-10........ is

(a)30 (b)35

(c)-35 (d)25

3q®H 5,7,9,11........ &I B9 9T g 27 BT |

Which term will be 27 of the sequence 5,7,9,11........7
(a)13™ (b)12™

(c) 11* (d)10™

A& 579........ 2531 g SN

The 25" term of the series 5,79........

(a)a4 (b)a5
(c) 43 (d) none
341 0.04,0.02,1........ ST < U< 7|
4™ term of the series 0.04,0.02,1........ is
(a)5 (b)o0.5
(c)1/5 (d)none
I x,y,z TR A A & A
If x,y,z are in G.P then
(a) y* = xz (b)y (x* +2*)=x(2* + y*)
(c) zy=x+z (d) none
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12.

13.

14.

15.

16.

17.

18.

afg a,b,c,d UK S # 8 @ |rEeru (r) |

If a,b,c,d are in G.P then common ratio (r) will be

ab c ab c
@)= (b) ==, =
b c d
(c) === (d) none

I r &7 A9 3B1E (1) | SureT maid r>1 8 @ s, BN
If value of ris more than 1i.e r>1,then s, will be
a a
(a) — (b) —
(c)na (d) none
B FEAT X,y,z TONCR AT § TAT 64T X, Y, —8 AR AG H B, X, y & AF 8

The number of x,y,z are in GP and the number x,y,-8 are in A.P. The value of x,y
are

(a) 4,16 (b) 16,4
(c)Both (d) none
ORI & W 3MMS Y&l &7 INT YoM IR Y&l & IRT P 5 T &, AAJUa 2 |

The sum of first eight terms of G.P is five times, the sum of the first four terms . The
common ratio is

(a) V2 (b) V2

(c) both (d)none

AR ST BT USAT O TT WIAGT U8 UIRKR ST A © 3R Wk 2 ¥ | TR Ag Bl
TEIUS '

The 1%, second and 7" term of an A.P are in G.P and the common difference is 2.

The second term of the A.P is

(a) 5/2 (b)2

(c) 3/2 (d)1/2

<) WETelt 4 3R 16 BT YUK AR BT AR -
The G.M of two numbers 4 and 16 shall be:
(a)8 (b)10

(c)o (d)12

afg k-1, (2k+1), (6k+3) are in G.P then K=?
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(a)7 (b)4
(c)-2 (d)o
19. 3T a,x,b UK S H & @

If a,x,b are in G.P then:

(a)x=ab (b)x*=ab
(c)x=2 (d)x=22

20. 4 FfaT 10 el g1t X1 ey # O 8, 9 s9¥ b YR A Al B R AT Heoll R Fhd 8 |

4 persons go in railway compartment having 10 seat. In how many ways they may be
occupy the seat?

(a)pe (b)*°pa
(€)ca (d)*°cs
21."p,=12 "p,, @ N BT AN &
If "p,=12 "p, then the value of n is
(a)3 (b)-3
(c)6 (d)12
22.5 FEB! AR 4 FEfHAT B TP U 7 I UPR | TSI I AGd 8, 99 DY o ASH b AT 7
|

In how many ways can 5 boys and 4 girls stand in a row so that no two girls are

together
(a)6! x 5! = 4! (b)°ps x 4
(c)’ps x2 (d)none

23. 3} "p,=3607r n FT AT BT
if "p, =360 then the value of n will be
(a)-5 (b)-6
(c)6 (d)none

24."p, R ® ("p,is equal to)

> por (n-r
. d) None
Le th-r
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25.

26.

27

28.

29.

30.

31.

f&et ot 9§ 4 o SR 4 SRT TF TAPR AT R fHa SR | 937 Gahd 7 , o a8 9

2 3T Td 9T 7 B

In how many ways can a party of 4 men and 4 women be seated at a circular table,

so that the two women are not adjacent.
(a)164 (b)174

(c)144 (d)154

Afx 2c,=2%C 06, I BT A BTl

If %c,=*%c,.q ,find the value of r

(a) 10 (b)9

(c)8 (d)12

¢ + ¢, @1 9 2 (the value is-)

(a)716 (b)715

(c)710 (d)none

m%|1x8 i|=28€ﬁxaﬂm?r€ﬁﬂ

x 2| _
The value of x, If|18 x| =28
(a)x=+18 (b) x=(5,4)
(c) x=6,7 (d) x=9 or x=0

ARfrE &1 719 & (The value of determinant)

|1 3
2 5

(a)-1 (b)1
(c)2 (d)o

21ﬁ"|1xs i|=|168 §|m$m’%
If|1x8 i| =|168 §|thenxisequalto

(a)6 (b) £6
(c)-6 (d)o

Determinantis a............ matrix.

(a)square (b) triangle
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32.

33.

34.

35.

36.

37.

38.

(c)both (d)none

R P g Tt ] fear o 9o g aft
(a) A= 0 (b) A= 0
(c) A= 1 (d) A= 1

m%A=[2 § 2],5Aaﬂmﬁﬁﬁn%?

IfA=[2 g 2,va|ueof5Ais?
40 10 15 4 10 5
(a) [20 25 30] (b) [2 25 30
10 20 3 4 1 15
(c)[so 25 5 (d)[z 2 30
1
afg A=(2|,B=[1 2 3]as BA@w d9 & (then the value of BA is )
3
1 2 3
@lz 4 6] (b)[1 4 9]
3 6 9
(c)[1 4] (d) none

s A={a,b} @ ST ¥ B9 A &7 SUHg=E T8 7

If A= {a,b} then which one is not a subset of A

(a) {0} (b){a}
(c){b} (d)@

o 5 (let) A= {2,3,4}, B={3,4},c = {4,5,6} @ (then) AU(BN ¢) &
(a){3} (b){4}

(ci2,3,4} (d)none

Td reuTell H 60% faenfil « i WRem @Iy # @R 70% faenfit % wshy s=a Ao |
a1 faar | fraw uftree et 3 91 & o & g |

In a school 60% students contributed in national defence fund and 70% students
contributed in national saving scheme. How many students contributed in both the
scheme.

(2)20% (b)30%
(c)40% (d)35%
A—(BUC) =
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39.

40.

(a)(A-B) U (A-C) (b) (A-B) N (A-C)

(c)(A-B)u C (d) (A-Cc)uB

1,2,3,4,5 % °1d WY=d H @Al B G §

the number of elements in the power set of 1,2,3,4,5 are

(a)16 (b)32

(c)ed (d)8o

n(AuB) =80,n(B) =15 anm n (AN B) =58 @ n(A) & 99 Tan
Ifn(AU B) = 80,n(B) = 15and n (A N B) =5 then n(A4) will be
(a)70 (b) 65

(c) 60 (d) 55
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